[‘[pPadPukK NMHeNHOMU
PYyHKUUN C MOAYNAMN
N ero npakTuyeckoe
NnpUMeHeHue.



Cnocobbl MOCTPOEHUSA rPadOUKOB
f(x)=|x-al| + |x-a2| + |x-a3| + ... + |[x-an]|

« 1. ChoXxeHune opauHar.

f(x)=|x-all, f(x)=|x-a2|, ..., f(x)=|x-an|



[Tpnmep:
f(x)=|x+1]|+|x-2]
L f(x)=|x+1].
2. f(x)=|x-2].
. CnoxeHune opauHar.




Cnocobbl MOCTPOEHUSA rPadOUKOB
f(x)=|x-al| + |x-a2| + |x-a3| + ... + |[x-an]|

« 2. MeToa MHTEpBanoBs.



[Tpumep

f(xX)=|x+5|+|x|+|x-2|+|x-6]
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3agada 1.
v=|Xx-2|+|X|+|X+2|+|X+4|
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3agada 2.
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3agada 3.
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S=|X|+|X-6|+|X+5|+|x-2|+|x+1|+|x-3|+|x-4]|



3agada 3.

S=|X|+|X-6|+|X+5|+|x-2|+|x+1|+|x-3|+|x-4]|



S=|x|+|x-a1|+|x-az|+...+|X-an-1]



S =|x|+[x-70]|+|x+80|+

3agada 4.
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